## **Table of Contents**

1 problem-one	1
2 problem-two	3
3 problem-three	5
4 problem-four	9

problem-one Tuesday, 13 November, 2018 20:04

• Au = 
$$\lambda u$$
 [A, B] = 0  
Av =  $\mu v$   
a)  $\lambda + \mu$  (non-deg.)  
Bu =  $\nu u$   
 $A(Bu) = BAu = B(\lambda u) = \lambda (Bu)$   
=) Bu is eigenvector of A ust e.va.  $\lambda$   
 $\lambda$  man-deg. =)  $u$  is edug e.ve. (direction) with  $\lambda$   
=) Bu =  $\alpha u$  (ac R)  
But then a is e.ve. of B ost e.va.  $\alpha$  !.  
 $H_2$  for  $v$ .  
b)  $\lambda = \mu$ .  
 $\mu = \lambda u$  Bull  $u$ . space gave: (u, v)  
Find eigenvector,  $M^2$ , of B (with eigenvalue b)

$$\Rightarrow (an sider | p) = \alpha | u \rangle + \beta | v \rangle \qquad recall: A | u \rangle = \lambda | u \rangle$$

$$(what are \alpha, \beta?) \qquad A | v \rangle = \alpha | u \rangle + \beta A | v \rangle$$

$$= \alpha \lambda | u \rangle + \beta A | v \rangle$$

$$= \alpha \lambda | u \rangle + \beta \lambda | v \rangle$$

qm3-workshop-three Page 1

$$= \alpha \lambda |u\rangle + \beta \lambda |v\rangle$$

$$= \lambda (\alpha |u\rangle + \beta |v\rangle)$$

$$= \lambda (\lambda |u\rangle + \beta |v\rangle)$$

$$= \lambda (\lambda |u\rangle$$

$$b |u\rangle = b (\alpha |u\rangle + \beta |v\rangle) = \alpha b |u\rangle + \beta b |v\rangle = b (\alpha |u\rangle + \beta b |v\rangle) = \alpha b |u\rangle + \beta b |v\rangle$$

$$If frue:
$$B |u\rangle = B (\alpha |u\rangle + \beta |v\rangle) = \alpha B |u\rangle + \beta B |v\rangle = b (\alpha |u\rangle + \beta b |v\rangle) = \alpha b |u\rangle + \beta b |v\rangle$$

$$s dr: \qquad (\langle u|u\rangle = 1, \langle u|v\rangle = 0, \langle v|v\rangle = 1)$$

$$x \langle u| = |u\rangle + \beta \langle u|b|v\rangle = \alpha b$$

$$B_{uv}$$$$

• 
$$x < v | : x < v | B | w + \beta < v | B | v > = \beta b$$
  
Bru

0

$$\begin{array}{c} (Bun & Buv) \\ (Bvn & Bvv) \\ Bvn & Bvv \\ \end{array} \begin{pmatrix} \alpha \\ \beta \end{pmatrix} = b \begin{pmatrix} \alpha \\ \beta \end{pmatrix} \\ \begin{pmatrix} \alpha \\ \beta \end{pmatrix} \\ \\ \hline \beta \end{pmatrix} \\ \begin{array}{c} matrix & repr. \\ B & (u,v) & space \\ \end{array} \quad \begin{array}{c} vector & repr. \\ f & M \end{pmatrix} = \alpha(m) + \beta(v) \\ \end{array}$$

Solve e.va, e.ve 
$$f B = get |nP\rangle$$
 (get  $\alpha_{,\beta}$ ).

problem-two Monday, 29 October, 2018 18:38

$$\begin{split} \langle \mathbf{F} | \mathbf{H}_{0} | \mathbf{F} \rangle &= ? \\ \mathbf{H}_{0} &= h(\mathbf{r}_{1}, \mathbf{p}_{1}) + h(\mathbf{r}_{2}, \mathbf{p}_{2}) \quad ; \quad h(\mathbf{r}_{1}\mathbf{p}) = -\frac{\hbar^{2}}{2m} \nabla^{2} + \nabla(\mathbf{r}) \\ \mathbf{F} &= \frac{1}{N^{2}} \left[ \begin{array}{c} \mathbf{H}_{1}(\mathbf{r}_{1}) \mathbf{X}_{1}(1) & \mathbf{H}_{1}(\mathbf{r}_{2}) \mathbf{X}_{1}(2) \\ \mathbf{H}_{2}(\mathbf{r}_{1}) \mathbf{X}_{2}(1) & \mathbf{H}_{2}(\mathbf{r}_{2}) \mathbf{X}_{2}(2) \end{array} \right] \\ &= \frac{1}{N^{2}} \left[ \begin{array}{c} \mathbf{H}_{1}(\mathbf{r}_{1}) \mathbf{H}_{2}(\mathbf{r}_{2}) \mathbf{X}_{2}(\mathbf{r}_{2}) \\ - \mathbf{H}_{1}(\mathbf{r}_{2}) \mathbf{H}_{2}(\mathbf{r}_{1}) \mathbf{X}_{1}(2) \mathbf{X}_{2}(1) \end{array} \right] \end{split}$$

so  $\langle \overline{\Phi} | h(\underline{r}, \underline{p}) | \Phi \rangle$ 

$$\begin{split} &= \frac{1}{2} \iint dr_{1} dr_{2} \left\{ \left[ \left( \mathcal{A}_{1}^{\dagger}(\varepsilon_{1}^{*}) \mathcal{A}_{2}^{\dagger}(\varepsilon_{2}^{*}) \mathcal{A}_{1}(\varepsilon_{1}^{*}) \mathcal{A}_{2}(\varepsilon_{2}^{*}) \mathcal{A}_{1}(\varepsilon_{1}^{*}) \mathcal{A}_{2}(\varepsilon_{1}^{*}) \mathcal{A}_{1}(\varepsilon_{1}^{*}) \mathcal{A}_{2}(\varepsilon_{1}) \mathcal{A}_{2}(\varepsilon_{2}) \mathcal{A}_{2}(\varepsilon_{1}) \mathcal{A}_{2}(\varepsilon_{2}) \mathcal{A}_{2}(\varepsilon_{1}) \mathcal{A}_{2}(\varepsilon_{2}) \mathcal{$$

qm3-workshop-three Page 1

$$= \frac{1}{2} \sum_{i=1}^{2} \int d^{3}r_{i} \wedge \theta_{i}^{*}(r_{i}) h(r_{i}, \rho_{i}) \wedge \eta_{i}(r_{i})$$

$$= \frac{1}{2} \sum_{i} \left\{ \int d^{3}r_{i} \wedge \theta_{i}^{*}(r_{i}) \left[ -\frac{h^{2}}{2m} \nabla^{2} \vartheta_{i}(r_{i}) \right] + \int d^{2}r_{i} |\vartheta_{i}(r_{i})|^{2} \nabla(r_{i}) \right\}$$

$$= \frac{1}{2} \sum_{i} \left\{ \int d^{3}r \wedge \vartheta_{i}^{*}(r) \left[ -\frac{h^{2}}{2m} \nabla^{2} \vartheta_{i}(r) \right] + \int d^{2}r \rho(r) \nabla(r) \right\}$$

$$= \frac{1}{2} \sum_{i} \left\{ \int d^{3}r \wedge \vartheta_{i}^{*}(r) \left[ -\frac{h^{2}}{2m} \nabla^{2} \vartheta_{i}(r) \right] + \int d^{2}r \rho(r) \nabla(r) \right\}$$

$$= \frac{1}{2} \sum_{i} \left\{ \int d^{3}r \wedge \vartheta_{i}^{*}(r) \left[ -\frac{h^{2}}{2m} \nabla^{2} \vartheta_{i}(r) \right] + \int d^{2}r \rho(r) \nabla(r) \right\}$$

$$= \frac{1}{2} \sum_{i} \left\{ \int d^{3}r \wedge \vartheta_{i}^{*}(r) \left[ -\frac{h^{2}}{2m} \nabla^{2} \vartheta_{i}(r) \right] + \int d^{2}r \rho(r) \nabla(r) \right\}$$

$$= \sum_{i} \left\{ \int d^{3}r \wedge \vartheta_{i}^{*}(r) \left[ -\frac{h^{2}}{2m} \nabla^{2} \vartheta_{i}(r) \right] + \int d^{2}r \rho(r) \nabla(r) \right\}$$

$$= \sum_{i} \left\{ \int d^{3}r \wedge \vartheta_{i}^{*}(r) \left[ -\frac{h^{2}}{2m} \nabla^{2} \vartheta_{i}(r) \right] + \int d^{2}r \rho(r) \nabla(r) \right\}$$

problem-three Tuesday, 30 October, 2018 9:38

a) Yes, Since 
$$\frac{4}{3}\frac{1}{48}$$
 are, and thur's at  $\frac{1}{MP}$  in  $(\frac{1}{9}^{4})$ . Explicitly:  
 $<\frac{1}{4}\frac{1}{48}|\frac{1}{48}|^{3}> = \int d^{2}r |\frac{1}{4}\frac{1}{48}(r,c')|^{2}$   
 $= \int dr |\frac{1}{48}(r)|^{2} \int dr' |\frac{1}{48}(r')|^{2}$   
 $= \int dr |\frac{1}{48}(r)|^{2} \int dr' |\frac{1}{48}(r')|^{2}$   
 $= 1 \cdot 1 = 1$   
 $\sqrt{4^{4}} \cdot \frac{1}{48} = \int d^{2}r |\frac{1}{4}\frac{1}{48}(r,c')|^{2}$   
 $<\frac{1}{2}\int d^{2}r |\frac{1}{4}a(r)|\frac{1}{48}(r')| \pm \frac{1}{48}(r)\frac{1}{48}(r')|^{2}$   
 $= \frac{1}{2}\int d^{2}r |\frac{1}{4}a(r)|\frac{1}{48}(r')| \pm \frac{1}{48}(r)\frac{1}{48}(r')|^{2}$   
 $= \frac{1}{2}\int d^{2}r \left[\frac{1}{4}a(r)|\frac{1}{48}(r')| \pm \frac{1}{48}(r)\frac{1}{48}(r')$ 

 $=\frac{1}{2}\{1+1\}$ 

$$\begin{split} b) \quad \hat{\Theta}_{1} &= \Theta_{1}(e^{2}) + \Theta_{1}(e^{2}) \\ i) < \varphi_{AB}^{ad} \left( \hat{\Theta}_{1} \right) + \varphi_{AB}^{ad} > \\ &= \int d^{2}e^{--\varphi_{AB}^{ad}} \left( \hat{\Theta}_{1}(e^{2}) + \varphi_{AB}^{ad}(e^{2}) + \varphi_{AB}^{ad}(e^{2}) \right)^{ad}} \left[ \Theta_{1}(e^{2}) + \Theta_{1}(e^{2}) \right] \left( \frac{4}{6}h(e^{2}) + \frac{4}{6}h(e^{2}) + \frac{4}{6}h(e^{2}) \right) \\ &= \frac{1}{2} \int d^{2}e^{--\varphi_{AB}^{ad}(e^{2})} + \frac{1}{6}h(e^{2}) \frac{4}{6}h(e^{2}) + \frac{1}{6}h(e^{2}) + \frac{1}{6}h(e^{2}) \frac{4}{6}h(e^{2}) + \frac{1}{6}h(e^{2}) \frac{4}{6}h(e^{2}) \right) \\ &= g_{AB}^{ad}a_{A}, \ cars kows \ varieb date \ b \ although diffy \ d^{2}A + \frac{1}{6}A_{A} \\ &= \frac{1}{2} \left[ \int d^{a}e^{--\varphi_{A}^{ad}(e^{2})} \frac{1}{6}h(e^{2}) \frac{1}{6}h(e^{2}) \left( \Theta_{1}(e^{2}) + \Theta_{1}(e^{2}) \right) \frac{4}{6}h(e^{2}) \frac{4}{6}h(e^{2}) \\ &= \frac{1}{2} \left[ \int d^{a}e^{--\varphi_{A}^{ad}(e^{2})} \frac{1}{6}h(e^{2}) \frac{1}{6}h(e^{2}) + \int de^{-2}\varphi_{B}^{ad}(e^{2}) \Theta_{1}(e^{2}) \frac{4}{6}h(e^{2}) \\ &= \frac{1}{2} \left[ \int d^{a}e^{--\varphi_{A}^{ad}(e^{2})} \Theta_{1}(e^{2}) \frac{4}{6}h(e^{2}) + \int de^{-2}\varphi_{B}^{ad}(e^{2}) \Theta_{1}(e^{2}) \frac{4}{6}h(e^{2}) \\ &= \frac{1}{2} \left[ \int d^{a}e^{--\varphi_{A}^{ad}(e^{2})} \Theta_{1}(e^{2}) \frac{4}{6}h(e^{2}) + \int de^{-2}\varphi_{B}^{ad}(e^{2}) \Theta_{1}(e^{2}) \frac{4}{6}h(e^{2}) \\ &= \frac{1}{2} \left[ \int d^{a}e^{--\varphi_{A}^{ad}(e^{2})} \Theta_{1}(e^{2}) \frac{4}{6}h(e^{2}) + \int de^{-2}\varphi_{B}^{ad}(e^{2}) \Theta_{1}(e^{2}) \frac{4}{6}h(e^{2}) \\ &= \frac{1}{2} \left[ \int de^{-2}\varphi_{A}^{ad}(e^{2}) \Theta_{1}(e^{2}) \frac{4}{6}h(e^{2}) + \int de^{-2}\varphi_{B}^{ad}(e^{2}) \Theta_{1}(e^{2}) \frac{4}{6}h(e^{2}) \\ &= \frac{1}{2} \left[ \frac{1}{2} \int de^{-2}\varphi_{A}^{ad}(e^{2}) \Theta_{1}(e^{2}) \frac{4}{6}h(e^{2}) + \int de^{-2}\varphi_{B}^{ad}(e^{2}) \Theta_{1}(e^{2}) \frac{4}{6}h(e^{2}) \\ &= \frac{1}{2} \left[ \frac{1}{2} \int de^{-2}\varphi_{A}^{ad}(e^{2}) \Theta_{1}(e^{2}) \frac{4}{6}h(e^{2}) \frac{4}{6}h(e^{2}) \\ &= \frac{1}{2} \left[ \frac{1}{2} \int de^{-2}\varphi_{A}^{ad}(e^{2}) \Theta_{1}(e^{2}) \frac{4}{6}h(e^{2}) \frac{4}{6}h(e^{2}) - \frac{1}{6}h(e^{2}) \frac{4}{6}h(e^{2}) \right] \\ &= \frac{1}{2} \left[ \frac{1}{2} \left( \frac{1}{2} \int de^{-2}\varphi_{A}^{ad}(e^{2}) \Theta_{1}(e^{2}) \frac{4}{6}h(e^{2}) \frac{4}{6}h(e^{2}) - \frac{1}{6}h(e^{2}) \frac{4}{6}h(e^{2}) \right] \right] \\ &= \frac{1}{2} \left[ \frac{1}{2} \left( \frac{1}{2} \int de^{-2}\varphi_{A}^{ad}(e^{2}) \Theta_{1}(e^{2}) \frac{4}{6}h(e^{2}) \frac{4}{6}h(e^{2}) \frac{4}{6}h(e^{2}) \frac{4}{6}h(e^{2}) \frac{4}{6}h(e^{2}) \frac{4}{6}h(e$$

$$= \iint d^{2} \mathcal{L} \quad \varphi_{A}^{*}(\mathcal{L}) \varphi_{B}^{*}(\mathcal{L}') \left( \mathcal{O}_{I}(\mathcal{L}) + \mathcal{O}_{I}(\mathcal{L}') \right) \varphi_{A}(\mathcal{L}) \varphi_{B}(\mathcal{L}')$$
Similarly,

$$= \int dE \int_{A}^{A} (E) O_{1}(E) \phi_{A}(E) + \int dE' \phi_{B}^{*}(E') O_{1}(E') \phi_{B}(E')$$

$$e. the same expression.$$

$$c) \quad \hat{O}_{2} = O_{2} (I_{1}-E'I)$$

$$i) < \psi_{AB}^{dS} \mid \hat{O}_{2} \mid \psi_{AB}^{dS} \rangle$$

$$= \int d^{2}E - \phi_{A}^{*}(E) \phi_{B}^{*}(E') O_{2} (I_{1}-E'I) \phi_{A}(E) \phi_{B}(E')$$

$$= \int d^{2}E - [\phi_{A}(E)]^{2} |\phi_{B}(E')|^{2} O_{2} (I_{1}-E'I)$$

$$i(i) < \psi_{AB}^{ab} \mid \hat{O}_{2} \mid \psi_{AB}^{bb} \rangle$$

$$= \int d^{2}E - [\phi_{A}(E)]^{2} |\phi_{B}(E')|^{2} O_{2} (I_{1}-E'I)$$

$$i(i) < \psi_{AB}^{ab} \mid \hat{O}_{2} \mid \psi_{AB}^{bb} \rangle$$

$$= \int d^{2}E - [\phi_{A}(E)]^{2} |\phi_{B}(E')|^{2} O_{2} (I_{1}-E'I) (\phi_{A}(E)] \phi_{B}(E') \pm \phi_{B}(E') \phi_{A}(E')$$

$$= \int d^{2}E - [\phi_{A}(E)]^{2} |\phi_{B}(E')|^{2} O_{2} (I_{1}-E'I) (\phi_{A}(E)] \phi_{B}(E') \pm \phi_{B}(E') \phi_{A}(E')$$

$$= \int d^{2}E - [\phi_{A}(E)]^{2} |\phi_{B}(E')|^{2} O_{2} (I_{1}-E'I)$$

$$= \int d^{2}E - [\phi_{A}(E)]^{2} |\phi_{B}(E')|^{2} O_{2} (I_{1}-E'I)$$

$$= \int d^{2}E - [\phi_{A}(E)]^{2} |\phi_{B}(E')|^{2} O_{2} (I_{1}-E'I)$$

which means simpler expressions. 11.1

problem-four

$$3N-37 = \log_{10} 1.5$$

$$N = \frac{37 + \log_{10} 1.5}{3} = 12.4 \quad (3sf)$$

$$= N = 13 \quad \text{exceeds} \quad \text{Mouth} \quad (AL)$$

$$(i) \quad M_{0} \sim 2 \times 10^{30} \text{ kg} = 2 \times 10^{33} \text{ DVDs} = 2 \times 10^{43} \text{ kyles}$$

$$s_{0} \quad N > \frac{43 + \log_{10} 1.5}{3} = 14.4$$

$$= N = 15 \quad (P)$$

 $iii) M_{MN} \sim S \times 10^{11} M_{O} = 10^{10} k_{o} = 10^{10} DVDS = 10^{55} bytes$ 

$$N > \frac{55 + \log 1.5}{3} = 18.4$$
  
=)  $N = 19$  (K)